
Annex 2 - Guiding note to output-based budget 

In output-based budgeting, the goal is to estimate the cost of the individual outputs of the 

engagement. In contrast to an input-based budget, where the structure of the budget is based on 

the type of input, the output-based budget will be structured from the two-four outputs of the 

engagement. 

Input-based  

The input-based budget 

presents the list of 

expenditures divided under 

overall categories such as 

activity cost and staff cost or 

administration. However, it is 

not possible to see from this 

presentation of the budget, 

what the expected cost will be 

to produce output one or 

two. 

Output-based  

The output-based 

budget presents a 

breakdown of the 

expenditures, where the 

main categories of the 

budget are related the 

outputs. This set-up 

makes it possible to 

evaluate the cost of 

obtaining the specific 

outputs and it serves as a 

useful tool to discuss the 

use of funds to obtain 

the different outputs. 

Breakdown of costs 

When the same input goes into different 

outputs, it may be challenging to estimate the 

breakdown of the costs. Listed are ways to 

estimate the cost and allow a pro-rata 

method. One example is to allocate salary 

cost according to the use of hours spent on   

the specific output. Another example is to allocate  

the rent according to number of staff in a building, and which output they are working on.  

Salaries

•Time registration

•Estimate

Rent

•Staff count

•Estimate

Vehicles

•Use

•Estimate


